954H ( H) BBJ/MJ/M&EFHLIEA =

MR B 2O, EITRRICEORIBICHIR T5B88HVET O THTEIESND,
B, BPRE T F A= BRERLEBICWVEWG SRR BEEETOT, BFOERBEDICEMEBBEVEBLEY,

AT =35 Hagm—h
12:30~ |HMERERET -7
12:35~— |BEZEAN
BBJ2022418 AL BBJ2022# IR A% MIZ0224L IR A S M & F20224LIR A= WMJ20224L 1R A M&F20224LR K&
e A FAEE FEEE FEEE 77 A FLEE A FLEE
FiEEE
12:3h~ |ZL v vy —X2 5 {36%) 1414~ |ZL vy —R2 7 ALBER 1607~ |7 virvy—=2 5 R {19%) 1651~ |2 Fae 3R (L14) 17:17~ |7 rv—R2 SALLBESR 17:57~ | Fis SaAbmESE 18:37~ MIZ Ly v —X25 R
12:47~ |Ew 2 7o 7EE 14:10~ |2 o 3 A BEE 16:14— |Ew 2 7w 7EBE 16:55— |Ew 27w THBE 1722~ |2 P25 ALBEE 18:02~ |7 A% — B EE 18:40~ |[MJZ FLo 5=
ik —HERER (BEER) FE —REERR (B2 FE —RERE (EBERED
12:52~ |z Fro 52 (33%) 14:24~ [T AE—Z2 FANEESE 16:19~ |2 Fu2 3R (134) 16:57~ |TRE—X7 7R (3%) 1727~ |RRAA—X2 7 ALLGEE 18:07~ |L T4 —RZ FALEBEE 18:43~ |MIvAZ—X2 7 &
13:03~ |Ev 27 7EE 14:20~ |T—0 B2 5 ABEE 1624~ |Ew 2 Fw 7EBE 1658~ |Ew 27w TEBE 17:32~ | F—NZ 2 5 A LEEE 18:12~ |7 —= v X2 5 A LEEE 18:46~— [MIT— E5 5 =
iR —HREREF (BEER) FE —REERE Bz FE —EERE (EBERED
13:08~ |==r2—=2 52 (l4%) 14:34~ |L P2 Fo T RALEES 1628~ |vX#—X2 5 (8%) 1659~ L 54 —Z 2 T R(EE) 17:37— LT —27 S AEESE 18:17— Eik (2050 B 18:49— ML Pz K2 SR
13:13~ |Ev 27 7EE 14:3G~ |H— X2 5 2ALBEE 16:31~ |Ew 2 7w 7BE 17:02~ |Ew 27w THBE 17:42~ |9—=7vZ o 5 ALEEE 1852~ [MIA— L Z2 5=
ik —HERF (BERETR) FE —REERE (B FE RERE (EBERED
13:17~ |Z=rEse 5= (11&) 1440~ L F1—RITANEEE 16:33~ |T—F# 5= {14) 17:03~ |7—vvXo 5% (T8) 1747~ |2 1—v o2 SANEES 18:55~ |MIL T4 —R 25 R
1321~ |Ev 27w 7EE 14:4G- |7 —7 X7 5 ALBES 16:35— |Ew 2 7w 7BE 17:06— |Ew 27w THBE 17:52~ | 755+ 7 ALBEE 1858~ Mz —= X2 5%
#EiE —oHRERF (BEER) FE —EERE Bz FE RERE EERER
1324~ |LoxvFrsz (68 14:50~ | 24— 5 5 A NBEE 1637~ L2 x> P25 R (24) 17:07~ (1045 19:01~ |MIzA—>»25 %
13:26~ |Ev 27 7EE 14:50- |7 5FF 7 7 ANEEE 16:38— |Ev 7 7w 7EE 19:04— MIFSFF 253
ik —HERER (BEETR) FE —RERER (s
28—~ |H—NXD2 T 04—~ - 39— |A—X2 7 8 07— |ME&FZ Fae 7=
13:28 H—X7 7R (13%)} 15:04 = (204500 16:39 WRZ TR (6% 19:07 7
13:33~ |Ew o Ty 7BE s b 1641~ |Ev 27w 78BE . lEmo =T o . . — s 19:10~ |Ma&Fw xRz —=
BF —HERE (Z2ET) BBIFZZE FE RERE (TsEe) BESM(2T) 1101 50~11: 20
13:37~ L7 4 —Re 7 R(AT4E) 1642~ |LT4 — A2 7 R(5E) 3 <7 ==y - 19:13~ |M&FLF1—RZ 3R
- BBIEF IR, EXEICBFELET,
13:43~ |Ew 2 7o FEE 15:24~ [ZLwiw—X252 16:44— |Ew &2 7w TEBE ot RN . S A e 19:16~ |[M&F7 —< X2 5 &
. LT Iy = =hA< Z
B —REEE (BIEF) . MI/M&FEF (X 7N T b U =Lk <) IE32T1
1348~ |7—=wZ2 3R {13%) 1527~ |2 Fa R 1645~ |P—w X2 SR (34} o+ /)7 > 775{\ 7‘\EW%I L/ i_gk 19:19 |#E&
— I~ o]
13:53~ |Ev 27w FEE 15:30~- |[TRE—=X2 52 16:46— |Ew 2 7w 7BE - s G R, SRR L .
- — e = Y
EE —HBHRS (FEET) EE —RIEE (BIET) M= I—T o T EEEF WIS
13:57~ |24 —»2 5% (T&) 15:33~ |[F—A K235 1647~ |2 A—»537 (54&) - — A . NN .
s =2 —F 4 S M/M&FRF(F 7L b U —idBR ),
14:00~ |Ev 27 7EE 15:36— [L ¥z FE2 TR 16:48~ |Ew 2 7w 7BE N s 4 g o w
BB MRS (FEET) ER —RESS EEET) ARy 7HEDEDEEE CENBL £
14:02~ | 7775272 0@2%) 15:30~ |F—n=Z7 3R 1649~ | 777+ 7 72 (1%}
14:03~ |Ev 27 7E&E 1542~ |LFu—2 75 A 16:50~— |Ev 7 7w 78H
BE —HEHESE (BEEET) BE —REER (BEEET)
A A | —wxs S
VR0~ Liea (104 98) LA TrRITE
15:48~— |#24— w25 =
Bl~ |24—vor 5 . - - -
R o MIW—IWI—FT 4 v FI20T
1554~ |7FFF 27 R - = ~ 2 o & o
QRO—FH LKIFTFTERURLE BT ITREFELIEE L,
TR -
FRAR(104578) https://youtu.be/L2PMHO0ipSoss




NRABRRT A - S¥I>20224LIRKS BFLE
(TJLwav—XOSX] (18i%~29i%)

TBE k& T
1 —H X 26
2 ER ED 26
3 RE A 24
4 =E o 25
5 BiE AE 19
6 iz 3 28
7 REK eH 21
8 T AE 24
9 T A& 25
10 e 20
11 AW & 21
12 EES  ME 21
13 it A 26
14 ek @i 25
15 ZH WA 25
16 e A 19
17 g A 25
18 % At 24
19 KE &2 28
20 IR =T 29
21 10 &t 29
22 A & 25
23 Tk B 20
24 FE 20
25 nEF BF 27
26 IRF AS 27
27 REE Bt 27
28 E &E 27
29 wE B 28
30 ERE s 28
31 E = 29
32 FE BA 21
33 MR RS 27
34 e i 19
35 IR S2AED 28
36 BA A8 24




(ZRILOSX] (30/%~39m%)

HizE K& Fiin
1 =R AX 32
2 B i 33
3 thll & 37
4 2 JE— 39
5 thiE F=— 37
6 £ a 33
7 thiE &3 33
8 MR A 31
9 A Eth 33
10 e E 35
11 iz oo 31
12 INEFE  EEE 39
13 g ZEA 39
14 R BE 32
15 =2 Bz 33
16 R s 37
17 AR AR 31
18 feIR St 31
19 WA AKX 30
20 #E K& 39
21 FEA SR 30
22 I & 38
23 [FHR FRE 34
24 aH bR 34
25 alll 8B 38
26 HE AL 36
27 EED BEA 36
28 b=y 7 W 35
29 #$e F— 37
30 A R 35
31 KB HIE 30
32 ELt FEE 33
33 w"H AX 34

[YRH—-XDSR] (40%~497%)

HiHE K& Filn
1 BE  Bih 40
2 51 AL o) 43
3 =% 9B 46
4 Bl EZ 47
5 £E  FER 43
6 W5 Ih 48
7 mE BF 48
8 BH F— 41
9 T NS = 46
10 x BBk 44
11 HmmL & 43
12 EAR Ex 47
13 =H ki 44
14 BE KNI 44




[(T—ILRISR] (508E~595%)

HizE K& i
1 g AT 51
2 \iE R 55
3 Tk # 57
4 =HE BYE 55
5 AARH 18 52
6 ) 52
7 NAR _— 56
8 e & 51
9 B 7 58
10 R 2 50
11 ERAR BE 57

(L2212 ROSX] (607%~FinfEHR)

HinE K& i
1 (] R =321 63
2 fojte 1EAS 62
3 [EF ) 61
4 R E 70
5 HEE TRz 64
6 B sk 63




(H—ILXOSXX] (18i%~295%)

HizE K& Fiin
1 FE KR 24
2 Bl WI'H 24
3 AR 8T 25
4 1T NS =1 28
5 i = 26
6 AAR E 26
7 WE =EX 27
8 = A=F 28
9 Al B 25
10 wE (Fon 26
11 Nim  BfE 28
12 TH FE 27
13 Al FU4E 26

(LT 4 —XRUS5X] (30/%~397%)

HigE K& Fiin
1 EA EiE 34
2 =E HF 36
3 e 32
4 i3 T= 31
5 MHE XME 37
6 Ml LW<H 37
7 MR BT 37
8 B =2 30
9 =fs MER 38
10 AR RSE 34
11 foR % 32
12 ) FRSE 39
13 FIER T 32
14 £a EEE 36
15 *XaE BE 32
16 A2 EBEE 37
17 Bit & 32

(-T2 XUS5R] (40%~497%)

HigE K& Fifn
1 Al BT 40
2 HA BF 46
3 tH AR 45
4 e NI Vo | 45
5 e HIH 46
6 SISl | 43
7 i XA 43
8 {2z I S 49
9 =PERTES 45
10 Bk BE 41
11 NHE RF 44
12 L7 S ES 48
13 wmTE ME 43




(U4 —>052X] (50m%~59i%)

HizE K& i
1 fnfe  ImiE 56
2 DRk SEtd 56
3 e B5 54
4 g RE 51
5 HHE FE 56
6 EHH BAE 53
7 FIfs  SE50F 53

(TSFFOS5X] (60i%~FinEFIIR)

HhinE K& i
1 AAR H(F 60
2 e BEr 61




